



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(5 + \frac{1}{2})^2 + \frac{3}{4} - 2^2 + \frac{3}{2} =$$

$$(\frac{1}{2} + \frac{3}{5})^2 - \frac{1}{6}(\frac{3}{4} - \frac{1}{4}) =$$

$$(\frac{3}{2} - \frac{1}{2})^2 - \frac{3}{4}(\frac{1}{6} + \frac{1}{2}) =$$

$$(\frac{1}{4} - \frac{1}{3})^2 - \frac{1}{6}(\frac{1}{2} + (\frac{1}{6})^2) =$$

$$(4 + \frac{1}{5})^2 - \frac{1}{3} + 3^2 + \frac{1}{3} =$$

$$(5 + \frac{2}{3})^2 + \frac{3}{4} - 2^2 - \frac{1}{5} =$$

$$(\frac{1}{2} - \frac{3}{4})^2 - \frac{3}{4}(\frac{2}{3} - (\frac{1}{2})^2) =$$

$$((\frac{2}{5})^2 + \frac{1}{2}) \times \frac{2}{5} - (\frac{1}{6} + \frac{1}{4})^2 =$$

$$(2 - \frac{1}{4})^2 + \frac{1}{5} \times \frac{1}{2} \times 3^2 =$$

$$(\frac{1}{2} + \frac{1}{3})^2 + \frac{1}{5}(\frac{2}{5} - \frac{1}{4}) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$(5 + \frac{1}{2})^2 + \frac{3}{4} - 2^2 + \frac{3}{2} = \frac{57}{2} = 28\frac{1}{2}$$

$$(\frac{1}{2} + \frac{3}{5})^2 - \frac{1}{6}(\frac{3}{4} - \frac{1}{4}) = \frac{169}{150} = 1\frac{19}{150}$$

$$(\frac{3}{2} - \frac{1}{2})^2 - \frac{3}{4}(\frac{1}{6} + \frac{1}{2}) = \frac{1}{2}$$

$$(\frac{1}{4} - \frac{1}{3})^2 - \frac{1}{6}(\frac{1}{2} + (\frac{1}{6})^2) = (-\frac{35}{432})$$

$$(4 + \frac{1}{5})^2 - \frac{1}{3} + 3^2 + \frac{1}{3} = \frac{666}{25} = 26\frac{16}{25}$$

$$(5 + \frac{2}{3})^2 + \frac{3}{4} - 2^2 - \frac{1}{5} = \frac{5159}{180} = 28\frac{119}{180}$$

$$(\frac{1}{2} - \frac{3}{4})^2 - \frac{3}{4}(\frac{2}{3} - (\frac{1}{2})^2) = (-\frac{1}{4})$$

$$((\frac{2}{5})^2 + \frac{1}{2}) \times \frac{2}{5} - (\frac{1}{6} + \frac{1}{4})^2 = \frac{1627}{18000}$$

$$(2 - \frac{1}{4})^2 + \frac{1}{5} \times \frac{1}{2} \times 3^2 = \frac{317}{80} = 3\frac{77}{80}$$

$$(\frac{1}{2} + \frac{1}{3})^2 + \frac{1}{5}(\frac{2}{5} - \frac{1}{4}) = \frac{163}{225}$$